September 16, 2019



Oct 6-8:44 AM







September 16, 2019









Oct 6-9:18 AM



Ex 4:
$$\cos x - \cos x \sin^2 x$$

= $\cos x (1 - \sin^2 x)$
= $\cos x (\cos^3 x)$ $\cos^2 x + \sin^3 x = 1$
= $\cos^3 x$ $\cos^2 x = 1 - \sin^3 x$

Oct 6-9:07 AM

September 16, 2019







$$E_{XB} = \frac{1 - \cos x}{1 + \cos x} = \frac{1 - \cos x}{1 - \cos^2 x}$$
$$= \frac{1 - \cos^2 x}{1 - \cos^2 x}$$
$$= \frac{1 - \cos x}{\sin^2 x}$$
$$= \frac{1 - \cos x}{\sin^2 x}$$
$$= \cos^2 x - \cos x = \frac{1 - \cos x}{\sin^2 x}$$
$$= \cos^2 x - \cos x = \frac{1 - \cos^2 x}{\sin^2 x}$$
$$= \cos^2 x - \cos^2 x = \cos^2 x$$



Sin $\alpha = \cos \beta$ Sin $\alpha = \cos \beta$ Sin $x = \cos(90 - \alpha)$ Cos $\alpha = \sin \beta$ Cos $\alpha = \cos \beta$ Cos $\alpha = \cos$

Sine odd Even Sin(-x) = -Sin(x)f(x) = f(-x)Cosine Even 099 origin Symmetry Potatronal Symmet Cos(-x) = cos(x)tangent odd f(-w) = -f(w)tan(-x) = -tan(x)CSC odd CSC(-x)= - CSC(x) See Even See(-x) = See(x) Cot odd Cobc-2) = - Cot(x)

$$ton \Theta = 1.38 \quad \text{Find} \\ Cot(\Theta - \frac{\pi}{2}) \\ ton \Theta = cot(\frac{\pi}{2} - \Theta) \\ odd = -cot((\Theta - \frac{\pi}{2})) \\ = -cot(\Theta - \frac{\pi}{2}) \\ 1.38 = -cot(\Theta - \frac{\pi}{2}) \\ -1.38 = cot(\Theta - \frac{\pi}{2}) \\ = 1.38 = cot(\Theta - \frac{\pi}$$

$$Sin \Theta = 1.1 \quad \text{Find} \quad \cos(\Theta - \pi)$$

$$Sin \Theta = \cos(\pi) = \cos(\pi)$$

$$Even = \cos(-(\pi + \Theta))$$

$$1.1 = \cos(\Theta - \pi)$$

Proofs: When in doubt, change everything to sine
and cosine. Try to only change one side, not both.
Start with the more complicated-looking side.
Example 1: Prove
$$sin \times sec \times = tan \times$$

 LHS









Oct 6-9:14 AM

sec x

 $\cot x + \tan x$

 $= \sin x$

Example 2: Prove

Oct 6-9:20 AM

 $\pm F$ tan $\Theta = -8$ and $\sin \Theta > 0$ Find Sing to solution $1 + (-8)^2 = 5cc^2 \Theta$ $1 + (can^2 \Theta)^2 = 5cc^2 \Theta$ $1 + (can^2 \Theta)^2 = 5cc^2 \Theta$ ايت $-\sqrt{65} = \sqrt{5} + \sqrt{65}$ $-\sqrt{65} = \sqrt{5} + \sqrt{65}$ $-\sqrt{65} = \sqrt{65} = -\frac{\sqrt{65}}{65}$ $tan \Theta = \frac{\sin \Theta}{\cos \Theta}$ $\frac{8}{\sqrt{3}} = \frac{5 \ln \Theta}{\sqrt{5}}$ $5 \ln \Theta = -8 \left(-\frac{\sqrt{5}}{\sqrt{5}}\right)$ $= 8\sqrt{5}$ $\frac{1}{\sqrt{5}}$ $= 8\sqrt{5}$









$$\frac{4}{\text{Secx + \tan x}} \cdot \frac{\text{Sec } x - \tan x}{\text{Secx - \tan x}}$$

= $\frac{4(\text{Sec } x - \tan x)}{\text{Sec^2 } x - \tan^2 x}$
= $\frac{4(\text{Sec } x - \tan^2 x)}{(1 + \tan^2 x) - \tan^2 x} = 4(\text{Secx - \tan x})$